= % 16.036 + 7.6 7 o] ThE A2 o] AYJY7?

@® 160.36 + 76 @ 1.6036 + 0.76
® 1603.6 + 760 01603 6+7.6

® 0.16036 = 0.076

16.036 + 7.6 = 160.36 + 76 ©]1L
@ 1603.6 ~ 7.6 = 16036 + 76 ©]B& o] t}2Uc}
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D 41x4+3=16.7 ® 41x3+4=16.7
@4.1x4+0.3: 16.7 @ 41x340.03=16.7

® 41x04+03=16.7

U 2= 0.3 Yyt
oebA 16.7 +4.1=4---0.3 | B &
ghe AATAL 41 x4+ 0.3 = 16.7 YUt
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W26 BRAL 50 BRA] oF 2 ulelA) wHEAsto] 4% 37
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4. 20.64 2 ojH 47 o] B2 44 S Aa7tA] et gy Bo)
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®s58 @2 ® 624 @ 65 ® 6.64

ol 52 [ ot 5
29.64 +[ |=4.78---0.004
[ ]=(29.64 —0.004) + 4.78 = 29.636 + 4.78 = 6.2




5.

oS =39 Yol 40.8cm?
FohA 5.

>
[> HE 6.2cm

8.5 3.4 +2 = 14.45(cm?)
40.8 — 14.45 = 26.35(cm?)
26.35 X 2 + 8.5 = 6.2(cm)




